FRFE REER - AR5

12H29H | 12A30H | 12A31H| 1A1H 1A2H 1A3H 1A4H8H 1A5H 1A6H 1A78

¥PR4THIE =3 =3 R =3 R hgg R =ES =3 =3
LEFEE 1085-198F | 108%-178% R R R R R R = =F
BAEE = £ 3 kg g kg R kg £ = £ 3
& B3THIE =3 =3 R =3 R R R =ES =3 =3
1 KIS = =3 108%-158F R kg R kg 1085-178% = £
B = v MYEFEIE =ES =3 =E= =3 R R =E= =ES =3 =3
TEHR =ES =3 R =3 R R R =3 =3 =3
FELoBIE e =3 R =3 R R R =3 =3 =3
+5iFE = 10851885 R R kg R kg 108%-178% = £
TEIRIE = £ 3 kg g kg R kg £ = £ 3

H2THIE = 10851585 R R kg R kg R 1085-1485 | 10B5-148%
FAACFMRIE = =3 108%-178% R kg R = =E 3 =3 =3
=F1TEE =3 1085-158% e Rz R gz R 1585-1985 e =ES
Eor&2THIE = =E = hg =3 R TR R 1085-1485 g =3
WS = =3 108%-158F R kg R kg =E 3 =E =3
TMGEDE =3 108%-1585 R R R Rz R 108-1485 e =ES
EiE[IEEES = =E 3 kg g kg R kg £ = £ 3
UNVRIF R E] IS =3 g OB%-158% Rz R e =3 =3 g g
S JHERHE S =ES g OB2f-155% Rz R e =3 =3 g g
tHEmE6T BiS = 108%-156% kg R kg R kg =E 3 =E =3
FEAtE1 T BiS =3 =3 R =3 R R R =ES =3 =3
h8THIE =3 =3 R =3 R R R =ES =3 =3
B3RS = =3 1085-148F R kg R kg =E 3 =E =3
KigH 5 = 108%-156% kg R kg R kg =E 3 =E =3
[izbr S = 108%-156% kg R kg R kg R =E £ 3
REE = =3 108%-158F R kg R kg =E 3 =E =3
SRS =3 =3 R =3 R R R =3 =3 =3
SIEFBRAIS =3 =3 R =3 R R R =ES =3 =3
BEE = 108%-198% kg R kg R kg =E 3 =E =3
ME3TEE =3 g 1085-178% Rz R e R =3 =3 g
TEHEITEIE =3 =3 R =3 R R R =3 =3 =3
By BaE = 108%-188% kg R kg R kg R =E £ 3
UVRUT AR _EIKIE OB%-21B% OBF-218% OB%-188% R kg R = =F 3 =E =3
=TS = 108%-178% kg R kg R kg R =E £ 3
BR— LA E =3 g 1085-158% Rz R e =3 =3 g g
=EmOE = 1085-178% kg R kg R kg =E 3 =E =3
BXEDE = =3 1085-148F R kg R kg =E 3 =E =3
LHIE =3 g 1085-158% Rz R e R =53 =3 S

SIEF25IE = 108%-158% R R kg R kg R 1085-1485 | 10B5-148%
AP FIIE = £ 3 kg g kg R kg g = £ 3
HLEs FIE = R hag =3 R TR e OB~ 188% g =3
=[E25)5 = 10851685 R R kg R kg 128%-198% = £

LRICEHDBDVEFHCDOETFEL TR, BENVWDFRIH. CHADEFHE THEE(C THBEVEDE TS,



FRFE REER - AR5

12H29H | 12A30H | 12A31H| 1A1H 1A2H 1A3H 1A4H8H 1A5H 1A6H 1A78
REFIE = 1085-156% kg he kg R kg £ 3 £ =3
=HIE =ES 1085-178F | 1085-178% R hag Rz R 10B-1585 =3 g
REXRTIE =ES =3 10B%-1 585 R hag Rz R =3 =3 g
S FEREE = £ 3 kg R kg R kg 1485-198% = =53
IS = £ 3 kg R kg R kg R = £ 3
BRARRIE = £ 3 kg R kg R kg £ 3 = =E 3
HBEEE = 1085-178% R R kg R 1085-1785 | 1085-178% = =3
LESTBIE =3 =3 R g R R R 1565-198% =3 g
[EElERS = £ 3 10851585 heg kg R kg £ 3 = =3
FEROE = £ 3 10851585 heg kg R kg £ 3 = =3
FIIGERS = £ 3 kg R kg R kg £ 3 = £ 3
JBIE =ES 10B%-1885 hag R hg g R hgz =E= =3
55 =3 =3 R g R R R =3 =3 =3
ENEES = £ 3 kg R kg R 1085-178% £ 3 = =3
BHFICXE = £ 3 kg R kg R kg £ 3 = £ 3
AUHE =3 10851785 hag R R g R =3 =E= S
PEIRGERS = 1085-156% kg R kg R kg £ 3 £ =3
Bic@EDE = £ 3 kg R kg R kg R = £ 3
HERAAEIE = £ 3 kg R kg R kg £ 3 = £ 3
AFILIE = £ 3 kg R kg R kg £ 3 = £ 3
AFKILBRAIE = £ 3 1085-168F heg kg R kg £ 3 = =3
msLE = £ 3 kg R kg R kg R = £ 3
F#E D& = 1085-188F kg Rz kg R kg £ 3 £ =3
AACFKEKE =3 =3 R g R R R =3 =3 =3
HY=w MNERIR LS =ES =3 R g R R R =3 =3 =3
E4Nh7THIE =3 =3 R g R R 10B%-1 585 =3 =3 g
El&aE = 1085-188F kg Rz kg R kg £ 3 £ =3
J\wE—0O—RJE =ES 10B%-1885 hag R hg g R hgz =E= =3
HILRIE = £ 3 kg R kg R kg R = £ 3
ZFREOIE =3 =3 R g R R R =3 =3 =3
—EHREE = =E 3 kg R kg R kg £ 3 = £ 3
AFEE = £ 3 kg R kg R kg £ 3 = £ 3

LRICEHDBDVESFHCDOETFEL TR, BTNVWDFRIH,. CHADEFHE THEE(C THBEVEDE TS,




